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Paper-11

2 marks.

__ HTARAENE

GENERAL STUDIES & GENERAL KNOWLEDGE

(Total 200 Marks)

(Total 39 Question)

Unit -1 (65 Marks)
e -1 (65 3®)

~ Part—-A Marks : 10
R — 3wt 10

Note: Attempt all questions, Answer the following questions in 15 words each, Each question carries

|e : wﬁuﬁzﬁwéiﬁﬂmﬁmw15-1sm€qﬁﬁé|u?aasw%‘zaiasﬁafﬁﬁ%|

1, Explain the role of the concept of ‘sthit pragya’ in the discharge of administrative
responsibility.
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2. What teachings of Buddha are most relevant today and why?
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3. What do you understand by ethical dilemma?
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4, Explain the relevance of ethical idea of ‘Rina’ in the administrative life.
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llowing questions in 50 words each. Each question carries

Paper-11

Note: Attempt all questions. Answer the fo

5 marks.
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6. Men’s Moral Advancement depends upon complete advancement of society.” Discuss.
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7. “Family is the most 1mportant institution for the moral development of man”, Evaluate this

statement. :
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s ultimate good on the basis of relative and categorical imperative.
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10. What are the core ethical values required for excellence in civil serv1ce‘7
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11. “Necessarily related, means cannot be separated from ends Therefore both must be ausp1c1ous
lain the above comment in the context of Gandhian ethics.

for real and lasting success. * Exp .
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12. Explain the factors essential in “Ethical decision” making. In case of ethical decision being agamst

to administrative decision, how will you harmonise them? Explain with examples.
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Paper—II

Unit - II (70 Marks)
@fe — II) : ‘ (70 3i®)
Part— A ~Marks : 10
HOT — 3 3w+ 10
Note: Attempt all questions. Answer the following questions in 15 words each. Each question carries
2 marks.. '
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| 1. Differentiate between nuclear fission and fusion.
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2. Explain the role of calcium carbide in the artificial ripening of fruits.
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- 317?("35311‘&? é{lsw concept of operation of RFID? Give two application of this technology.
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Pap er-II

Attempt all questions. Answer the following questions in 50 words each. Each question carries

5 marks.
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Write any fwe benefits of the medicinal plant — Guduchi/Giloy.
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7.  What is Cryptocurrency? What are its advantages and disadvantages
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10. (a) Which property of carbon is responsible for formation of large number of compounds?
(b) Write domestic and industrial applications of carbon compounds.
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(i) Artificial sweeteners
(i) Food preservatives
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13.  Mention the contribution of the following Indian Scientists -
(i) Homi Jehangir Bhabha

(ii) Sir Mokshagundam Vlsvesvaraya
(iii) Satyendra Nath Bose

(iv) Meghnad Saha (v) Har Gobind Khorana
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2. Write about the structure of Sial.
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3.  How Shivalik Himalayas was formed?
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0. Discuss the physical features of Hadoti plateau of Rajasthan.
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11. Describe the problems of Geopolitics in context of South East Asian countries.
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12. Describe the development of non-conventional energy in Rajasthan.
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13. Explain the concept of Geo-heritage and highlight its potentialities in Rajasthan.
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